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A THE2 T
M OHME THHETHIIE IS (SSEMKLAE/THHET - 2189)

S THLHETH 2relse 2a (S5 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2

308 NXIHHSOIH 40,000 36,000 4,000
=2 20,000
= 20,000

01 XNXEHHMILEXS 40,000 36,000 4,000
omM-tus ctdst= =4 K& 40,000
= 20,000
= 20,000

E=0 AAALE X (=1) 38,700 0 38,700
= 38,700

308 NXIEHHSOIE 38,700 0 38,700
2 38,700

01 XIXSHHBLAEXS 38,700 0 38,700
O=2s0l HEAIE &X 38,700
= 38,700

THHOPE FHokdt obM A 2(=2 1) 97,630 71,934 25,696
= 75,100
= 22,530

308 XNXIHHMSOIE 97,630 71,934 25,696
=2 75,100
= 22,530

01 AUXHHBLEEZ 97,630 71,934 25,696
OOt FHoft QM EHH 97,630
- 75,100
= 22,530

AR FEAE &5(=22) 20,400 0 20,400
= 12,000
L= 8,400

403 XXISHMS K201 20,400 0 20,400
= 12,000
& 8,400

01 XXISHHIH2EX 20,400 0 20,400
OALXNS BEANLE &5 20,400
= 12,000
= 8,400

Mo At& CHEl =& 2 &t 29,207,454 16,754,683 12,452,771




A THE2 T
M OrME THHETHIIE IS (SSEMKLAE/THHET - 2189)

Sl MolAIECHHl S8 23 (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
MoHAIE HE s 235t = 18,227
g 24,182,000
= 5,007,227
AATHOH ol & AFECHBI 28,300 60,519 N32,219
201 B2 HH| 22,800 26,519 AN3,719
01 AR 2t2| bl 22,800 26,519 N3,719
ogmas g HE 9,000
oMY =22 M 13,800
202 O4Hl 5,500 34,000 N 28,500
01 =Z2Woib] 5,500 34,000 A 28,500
OXHAMHE X=EZ 5,500
He=A2 THOHCHEE =& 68,200 605,000 A536,800
201 LBrEIH| 60,000 45,000 15,000
01 AtR2t2|tl 60,000 45,000 15,000
OMHES A MRRASG Y 20,000
OAMEMHISLHBERARAS 299 40,000
202 O4Hl 8,200 20,000 A 11,800
01 =2ZWodb] 8,200 20,000 A 11,800
OXAMHOHH 8 ¥ X&E 3,200
OAIE TGS B EE 2 HE XA 5,000
THEHIO o XF Al 22| AlAE RE(=21D) 36,454 43,664 AT,210
= 18,227
= 18,227
202 O4Hl 10,454 18,164 NT,710
= 5,227
== 5,227
01 =2ZWoib] 10,454 18,164 ANT,710
OMUYI oK Me|&elAlAE = 10,454
= 5,227
= 5,227
307 QIZtolA 26,000 0 26,000
= 13,000
& 13,000




SA

X{ ZH -
S =

KH =t 2 XH 1t

&l HolAI&UHI s 25t

OHMSEE THHE T AR (SSEM LS /THEHET -

SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
02 QUHFAEX 26,000 0 26,000
OMAIXJAE 29 XA 26,000
2 3,000
< 13,000
ZA00EE O X (2IREXH) 55,500 92,500 A 37,000
308 XAXIEHXMSOIA 55,500 92,500 A37,000
01 AXSHHIABEXTZ 55,500 92,500 A 37,000
O2xdll28 I A& 55,500
Mol X+ Al N (=21) 29,019,000 15,953,000 13,066,000
g 24,182,000
& 4,837,000
403 XXISHHSA20|& 29,019,000 15,953,000 13,066,000
g 24,182,000
= 4,837,000
01 AXESHA2EX 29,019,000 15,953,000 13,066,000
OMHASE X+ HH| 29,019,000
7 24,182,000
o= 4,837,000
?FE"XH@HOHE'! 2 HFEHIYE (2 ELXNENL /X 62,998,394 54,397,620 8,600,774
= 13,427,194
g 34,578,000
= 14,993,200
otd &g e 62,295,694 53,689,014 8,606,680
= 12,804, 194
rag 34,578,000
== 14,913,500
SRS S22 2,133,500 1,593,772 539,728
201 LB A 69,000 60,000 9,000
01 AtR22ld] 69,000 60,000 9,000
Odtd &8 2TEYNH 6,000
OotdY JHEN [HE ot ME 18,000
Oota 2|3 29 10,000
OGIETY 2HEY L SI| 442 35,000




SA
X XH .
(=

chel:

12

[0

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
202 O4dl 9,500 13,772 N4, 272
01 SLHAHbI 9,500 13,772 N4 272

Ootd 2| adlel 5 2,700
OGtETHOH M LAY X E&E 6,800
207 Ao 450,000 70,000 380,000
01 A1E4H| 450,000 70,000 380,000
OHAESFRX LHAE ZA 24 380,000
OXZotd FAIE AFI|E HEEY 70,000
308 AtXISHHMSOIH 1,500,000 1,350,000 150,000
02 w23 1,500,000 1,350,000 150,000
OdtdAEZ W23 1,500,000
401 A &HIZ =204 100,000 100,000 0
01 Al&HI 100,000 100,000 0
Ootd HEXIE HH| 100,000
405 KHaHFE S| 5,000 0 5,000
01 ML= SFHSHI 5,000 0 5,000
Odotd el Xl EEAAE BFH 5,000
SIEHUE WA 2,650,000 2,500,000 150,000
401 A ABIZ20HYI 2,650,000 2,500,000 150,000
01 Al&b| 2,650,000 2,500,000 150,000
OGtd HYEX 24 2,650,000

A0ot& FHl X (=) 12,804,194 8,434,242 4,369,952
= 12,804,194

403 XXM ESX20IH 12,804,194 8,434,242 4,369,952
= 12,804,194

01 XXSHXMA2EE 12,804,194 8,434,242 4,369,952
O4otd | 12,804,194
= 12,804,194

St THOHOI (= 22) 44,708,000 40,661,000 4,047,000
s 34,578,000
& 10,130,000

401 Al &BIZ20HYI 17,250,000 5,500,000 11,750,000
as 10,350,000




SA

o SHETHOHOIY ¥ BFENS N (ZELXGHL /ST
ol GHEEF A R
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
401 A&HI LY = 6,900,000
01 Al 17,210,300 5,485, 150 11,725, 150
©BHE TH ol ol 2 17,210,300
= 10,330, 150
= 6,880, 150
03 Al&=CHHI 39,700 14,850 24,850
©BHE THH 0l 2 39,700
= 19,850
< 19,850
403 TEXIEHHISXHEO0IH 27,458,000 35,161,000 A7,703,000
7 24,228,000
= 3,230,000
01 RXESHMAESE 27,458,000 35,161,000 17,703,000
©BHE TH ol 0l 2 27,458,000
= 24,228,000
< 3,230,000
WEHX Y FEY 702,700 708,606 15,906
= 623,000
= 79,700
Sl YR SotEX 9,700 16,000 26,300
201 pregy| 5,600 8,000 A2,400
01 At=222[H] 5,600 8,000 £2,400
OZLHE BOteHZ K250 29 5,600
202 o1t 4,100 8,000 /3,900
01 =LHoIHl 4,100 8,000 3,900
OZLHY Botpa HeEol 4,100
JIEY =eXel HH(=21) 693,000 692,606 394
= 623,000
= 70,000
403 EXISHHSAHE0IH 693,000 692,606 394
= 623,000
= 70,000
01 RXSHIZ2E 693,000 692,606 394
OAYAY FHXS Hy| 693,000




SN T I
M SHETHOHONY L HEHT S N (SELX AN L/ 2R

[0

Ciol: piEBTY may (eH9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 623,000
o= 70,000
HESAAH| (RHLHZTHDE) (D1EH/ DIE) 248,240 277,880 N29,640
ol 2 A 172,954 170,593 2,361
=23 o1AHHl X& 172,954 170,593 2,361
101 Q14| 172,954 170,593 2,361
02 =% 130,256 127,949 2,307
OM LA EHA (6 52,103
OAZ2tZ2 24+
7,457 3 *70A| 2 x6H *12& 37,584
oozt =224 2,486 3 *8A| 2tx2H x365E 14,519
CIIEEEE) PN 78,153
ONZte2eag
7,4573*70A1 2tx9H x 12& 56,375
oort=224 2,486 3 *8A| 2F*3% x365& 21,778
08 JIEIEE 42,698 42,644 54
OFFIAEH(1Y) 42,698
(OF=14: 1,982,500& 128 23,790
Oan=3 1,785
-d24 1,982, 500& *90% 1,785
ONs< 960
-l 2 Xt 40,0003 x1H x12& 480
-S2AIF 20,000 x2H «12& 480
O 2SItz 130,000 *12& 1,560
OFAHZgAH| 130,000& x12& 1,560
Ons2 x| 120,000 x12& 1,440
OY&ESItH| 1,982, 500& *120% 2,379
OIA X &bl 23,790,000& *x16.7% 3,973
O AHH| 1,982,500 *1/30*11& 727
[OESF=3=ENl 105,000& x12& 1,260
otalersy| 50,000& «12& 600
OANZIIZ224Y 6,3423 *35A 2Fx 128 2,664
Jl23Hl 75,286 107,287 A 32,001
|




SA

X{ ZH -
S =

KH =t 2 XH 2t
HH2AZHI (T (DIEH/IIE)

cHel: J1= | (E9: @)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
FM2E Jl=&Hl 75,286 107,287 A 32,001
201 LEHRHH| 58,390 83,767 N25,377
01 AtS2cldl 57,070 80,827 N23,757
ORN2ZE ARl 57,070
02 23244l 1,320 2,940 A 1,620
ORAN2E S3=24H 1,320
202 (Hl 16,896 23,520 N6,624
01 =LAl 16,896 23,520 A6,624
ORKN2E =U0H 16,896
Hess(HHLHA)(SSEALHA /TS - 2l 22,254,510 37,378,735 N 15,124,225
LHEHCHXI & 4,104,010 3,683,735 420,275
MoHCHel & st 4,104,010 3,683,735 420,275
702 JISdE= 4,104,010 3,683,735 420,275
01 JI=sd&E3 4,104,010 3,683,735 420,275
OMtt2teldl3 4,104,010
28X = 18,150,500 33,695,000 A 15,544,500
ol SPALY =& 18,150,500 33,695,000 A 15,544,500
311 XL =0l XH&f e 2,150,500 3,795,000 A 1,644,500
01 Al - EXIGHE IS X SO0 XHak e 2,150,500 3,795,000 A 1,644,500
©'02d =R (XHMLIIZ) 2,150,500
601 XU==atE 16,000,000 29,900,000 A 13,900,000
01 Al - EXZHEI I SANL =S4 16,000,000 29,900,000 A 13,900,000
©'02E =R (XNFMLIIS) 16,000,000




